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1. Which one of the following is mot a 3. Consider the following passage :
B o1 bolizati “pi
umc:‘.. f,!"m ization of “'p if and Some morals ... ... have an influence
only if g'"?

on the actions and affections, it
follows that they (morals) cannot be

derived from reasons ... ... because
| 2qklg>o
& =9)lg o p) reason alone can never have any such
influence.
(b) p=gq The author wishes to argue for the

conclusion which is stated as

{c) (p-plDg
fa) moral values can be deduced

from reason alone

{dl (p-glvi~p-~q)

fb) moral values can influence our
action

fc) reason can have an influence on

2. Given that p'is true, both ¢ and r are :
our action

false, what can you tell about the
truth value of

{d) moral laws cannot be deduced

= = ?
Ap=lgOnNID-r=(p5g)]’ from reason alone

fa) Its truth value is false

4. The statement "' p unless g’ should not

(b) s truth value is true be translated as
fc) Its truth wvalue cannot be (al *pOq
determined as the given
information is not sufficient (b) ~pOgq
(d) lts truth value will be true in two fe) ~qop

cases, and false in two cases;
hence it is a contingent
proposition (d) pvq
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1, Fafafa # @ 9w w “p 3l ik 3, Fefafen sgon w faam fift
e Al g W we W T R
T8 AER-Aifad .. . &1 &M 3 wiEl
T WNTE SEAl B, $EE sgmia @ R

fal (p>2q):lg D p) 4 (w=m-Hifeal) afgfa |8 Fofva =6 @
A ... ... s fad ahafe W@ wvm
w1 T v wFA |

% 19 G s A B i S )
waTioTe e e 87

fc) (p'plDq

(a) Ao gea ok wdafy @ P fa
w1 WA §

(d) (p-qlvi~p-~q)
(b) A= grm R W= w wnfEw =
el

(c) whgfe =1 ywE wt & w @

2. e ¥ % pwm &, g 3 r 3 o £, e 2
@ ~p=lgoro~r=(p2g)] &
e Ed F AR § F1 FE W wwA 27 (d) o= Fam fod adafe @ Pofia
¥ fru n wa

(a) TaF GO HeW STHA B
4. wgq p, 7 7% A ¢+ F=fafan d

| 7
) wsi s s w ® form w0 A srgar 78 e s =nfig
() pDq
fc) wwa weaem qog Fuffa 7 fFn
wew it 4 g s g (b) ~p>Dq
(d) v wea e TR w @) ~qp
si = wfifeafet 4 e ®m s
g U T e (d) pvg
N-DTQ-K-RJK/SA 3 [P.T.O.
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5. With regard to Aristotle's concept of

substance, consider the following
statements :

1. Substances are never present in
a subject.

2. Substances are never predicable
of a subject.

3. A substance is the logical subject
of a subject-predicate sentence.

Which of the statements given above
are correct?

fa) 1 and 2 only

(b) 2 and 3 only

fc) 1,2 and 3

(d) 1 and 3 only

6. Descartes’ definition of substance as

“nothing other than a thing which
exists in such a way as to depend on
no other thing for its existence” is
satisfied by

(a) both mind and body

{b) mind alone

fc) body alone

(d} neither mind nor body

N-DTQ-K-RJK/BA
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7. Which one of the following statements

correctly represents Locke's view of
substance?

(a) Substance means the totality of
attributes

(b) Substance means the substratum
or the ground of attributes

fc] Substance means the totality of
ideas

(d) Substance means the logical
construction of sense-data

8. Consider the following statements :

1. I exist, therefore I think.

2. 1 exist only when | am not
deceived in my thinking.

3. 1 think, therefore [ exist.

4. 1 recognize, therefore 1 exist,

Which of the above statements
incorrectly interpret the claim of
Descartes about the thinking
substance or the ‘T'?

fa) 1,2,3and 4
(b) 1 and 4 only
fe) 1, 2'and 4 only

fd] 2 and 3 only

Www.jeywin.com
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§. 90 & T % 9WEd & weey #

Frferfian wudt w fen $ifi

1. == %ot ft 32y 8§ ufem ad 99
4]

2. == ool off R & fadm wi 9
g B

3. = Ryy-Thy are w5 ofs 2
e i

I wul @ F-8 wdh #7
fa) F= 1 3w 2

(b) Faw 2 3 3

fe) 1,233

(d) &&= 1 3k 3

6. ¥ Az A oofam, Am g F

afefes oo off off 2 St W wEn
wfeeaar & & o o9 wfem ¥ R
ol s m Pl @ R, v A

(a) @, w3 ol g
(b) =& WA T
(c) & vl g

(d) =@ 5= 3w & ol 3o
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7. Prafefas 4 4 fw-w w 399 @ls &

7= % wa # o Frefta s 27
fa) w=8 = e 1ol ) AW R

(b) z=a w1 = i w1 wfEE s
e #

(c) z=m w3 wegdl ) awoen R

(d) 7= =1 =d 3=y wEn f alew
a0 R

8. FrafefEs suat w fomm fifaw -

1. # sffvEar €, sm: # feas s
{

2. f wfeeea § Faw w@ § s
o= & wen =@l s

3. & fomm & €, se § afemar
4

4. H swftgm w4, s § sfeweEEn
4l

E Al § O# wA-A 3 &
frfte 720 e ‘A’ & 2@ ) wem
O W W w4 87

(a) 1,2, 344

(b) == | 34

fc) Fm 1,234

(d) #aw 2 33
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9. Aristotle’s ethics is

fa) deontological

(b} partly deontological

(c) teleological

{d) neither deontological nor
teleological

10. Consider the following statements :
1. The weather is not good today.
2, This cell phone is not good.
3.  Your sister is not a good girl.

4, What you have done is not good.

Which of the above stalements are
expressed to use the word ‘good’ in
moral sense?

fa) 1 and 2

fb) 2 and 4

fe}] 2and 3

{d) 3 and 4

N-DTQ-K-RJK/BA
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11. Which of the following is not

subscribed by the teleologist?

fa) An action has instrumental value

(b) An action is right because of its
consequences

{c) Only consequences have
intrinsic value

{d] An action has value in itself

12. Consider the following statements :

1. All valid arguments have only
true premises,

bt

A sound argument must be valid.

3. An argument with a false
conclusion cannot be valid.

4. All arguments with truc
conclusions are valid.

Which of the statements given above
is/are correct?

fa) 2 and 4

fb) 4 only

fc) 1 and 2

fd)] 3 and 4

Www.jeywin.com
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9. I w1 i 2 11. Frafafas 4 @ frum wdiemadl ands
wE w7

g s
¢ (a) = 199 T 2

o
fc) ST
(c) e giomd § S ged g R

(d) = qftorm Frde =i 3 & s _
(d) =4 % =2 d ey B

10. Fr=afefas s 5 fmm fifow . 12, F=fafEs sa w HEn fifb .
1, ¥ w3t 79 8 I. wft 3w gl A FE@ EN
amanfiard, g §1

2. UE 99 B 791 A8 B
2. dE s A d @ T

3. LA A e 3. u e o s e % W A

w1 & wHl |

4, < 59 g TR s T R)

4. wft gfral v Pl & @ du
E FoHl § H FH-A F=e TE F it 51
Ao d w1 rfirers =@ §7

I wudl # | - /A wh 2/
fa) 1 a2

(a) 244
(o) 234 (b) *aa 4
(c) 233 fe) 132
(d) 3 34 (d) 3% 4
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13. Which one of the following is not 15
correct?

(a) 1If one of the premises is invalid,
the argument is not true

(b) An argument cannot be sound if
one of the premises is false

fc) If premises entail the conclusion,
then the argument will be valid

(d) A deductive argument may be
valid without being sound

14. Suppose “‘Some pesticides are
poisons’’ is true. What is implied
regarding the truth or falsehood of

1. No non-poisons are non-
pesticides.

2. Some pesticides are not non
poisons.

3. No pesticides are poisons.

Select the correct answer using the
code given below :

Code :

{a) 1 is true, 2 is false and 3 cannot
be determined

(b} 1 is not determined, 2 is true and
3 is false

{c) 1 is false, 2 is true and 3 cannot
be determined

(d) 1 isfalse, 2 is true and 1 is false

N-DTQ-K-RJK/BA 8
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» Which one of the following statements

is true?

(2) Contrapositive of A proposition
is 1 proposition

(b) Contrapositive of I proposition
is not valid

fc) Contrapositive is a kind of
mediate inference

{d) None of the above

the following statements? 16. Consider the following statements :

1. There are simple ideas of
sensation.

bsd

There are simple ideas of
reflection.

3. There are simple ideas which
require both sensation and
reflection.

Which of the statements given above
is/are correct according to Locke?

fa) 1 only

(b) 2 only

{c) 1 and 2 only

fd) 1,2 and 3

Dream Dare Win 8
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(a) aft smnfEmei @ § ww adw R,
gfer wea T R

(b) v e 2@ adff B =, 3R
Il § 8 o HEE R

fc) afz smarfeerd Freed =) sgem w=@
&,  gftr Au ¥rh

(d) ww Fromems g B S gn oA
A9 # el @

14, R ifm ‘e dgeh fm & @

fraferfan =y 6 a@am wv HEEm
¥ 9 ¥ T ITfEa g 27

1. =i wfay snfigaaned a8 8
2, %o dewaed afaw Tl §
3. &8 frewanh o a8 €1

A9 Ry g= w1 owEm W oAl IW
gfi ;

we

(a) | 9@ 2, 2 3w & s 3 fuife
a8 o 1w

(b) | Fuffm & 8, 2 @ ® afw 3
=g B

(c) 1| #wEeg B, 2 geg ® 3 3 Puffe
T o w1 wEwa

(d) 1w g, 2aa sl smat

N-DTQ-K-RJK/BA

(a) A whaa 1 wfaeRafda | adar
2

(b) 1 adar & whfafda 4 =8 2

(c) wfmfaffa vs wen w1 =ElE
wAH §

(d) 37w # &+ 79

16, Frafafaa waat w fEm i .

1. wded & W wey §

(2]

quEd & §E Wl B

3, o Wy §, o gden i wEda
FH1 I e w2

diw & WgER, Idw § 4 FH-E/A
weA |l R /87

(a) %a= |
(b) %A= 2
{c) &a= | 3T 2

(d) 1,23m3

[P.T.O.
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(a) Esse est percipi
(b} Things as ideas

fc) Mind as the creator as well as
the perceiver of ideas

(d) Existence of matter as an
abstract idea

18. Which one of the following is correct
according to Nyaya Philosophy?

(a) God neither can create
innumerable eternal atoms and
cternal souls, nor can He destroy
them

(b) God is not co-eternal with atoms
and souls

[c) Creation is not teleological
(d) God is both material and

efficient cause of the universe

19. The view that [évara (God) is only the
efficient but not material cause of the
world is held by
{a) Sarkara
(b) Ramanuja
fc) Buddhism

(d) Nyiya-Vaibesika

N-DTQ-K-RJK/8A 10
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17. Which is not accepted by Berkeley? 20. The theory, which holds that every

person seeks his or her own pleasure
and the only motive that is effective is
the desire to get pleasure, is called
fa) ethical hedonism

(b) psychological hedonism

(c) egoistic hedonism

{d) altruistic hedonism

21. Which of the following is acceptable to

Bentham?

(a) The inner light of conscience
acts as a guide to morality

(b) Moral duties are decided by
universalizability of principles

(c) Ethical obligation may be
defined in terms of sanctions

(d) Measurement of pleasures in
quantitative terms is not ethical

22. Who, among the following

philosophers, holds that subjective
feeling of sympathy constitutes the
internal sanction of conscience?

fa) Bentham

(b) Mill

fc) Hume

{d] Ayer

Dream Dare Win 10
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17. ¥%a ¥ swn, = e Tt 87 20. =% fogra & e wEal @ T wdw =f
Fo WA W gE e ¢ s e
(a) T7d s ada w9 wvrE @ gE ww A 6 o R,
T8 T el 87
(b) &% woaa & ¥4 H
(a) Afew gE=m=
(c) ¥ wemdl & ww oft yeawael &
w9 i (b) wramE gaae
(d) it 721 w1 aifdra 3ol wom & (c) EgEER
= i
(d) wHEETE
= mﬁif i e ki 21. Fraffn & @ A9-a1 3w F1 wied 37
sy B e (a) =afdd® ®1 wAFafes wwm Afews
B e ok w wn § S wtests & w2
i T 0 v (b) A whm P 6 wdsmE
(b) fw wonoEE sl & @ wwa Fruffea o &
we-Fe (c) M s smfed % wd &
(c) gft siwE T 4 ot fg an wd ¢
d qftmmnes get 9 Ao
(d) T faw =1 IuEr v Ffm 9 ”E;:Tm
FOT B
22, Frefafian anifel & @ 9 oem & 5
19. we famm & fov s 1 Faw Pftw Ho werfs $ fwafy s srias @
¥, Trem Frow 4, e = 27 arafen S w1 @ 27
(a) ¥ (a) Faw
(b) s (b) e
(c) drerm (c) W
(d) =-a9fe (d) wIm
N-DTQ-K-RJK/8A 11 [P.T.O.
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view that there would be no meaning
in an ought if it were not accom-
panied by a can?

(a) Spinoza

(b) Hume

fc) Locke

(d] Kant

24. Which of the following names is
associated with the conmtention
“complete good is virtue in harmony
with happiness'?
fa) Kant

{b) Martineau

{d] None of them

25. The falsehood of the conclusion of
an argument in formal logic does
guarantee that
fa) the argument is valid

(b) the argument is invalid

{c) at least one of its premises is
false

(d) either the argument is invalid or

at least one of its premises is
false

N-DTQ-K-RJK/8A 12
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23. Who, among the following, holds the 26. Which one of the following statements

is nof logically true?

(a) If either logic is difficult or many
students like it, and in fact many
students do not like it, then logic
is difficult

(b} Mathematicians love logic

fc) Logic is difficult or logic is not
difficult

(d) It is not the case that logic is
difficult and not difficult

fe) Mill 27. Given that "Either China or Pakistan

will disagree™ is false, which one of
the following is mot true?

(a) If Pakistan disagrees, then China
will disagree

(b) If China disagrees, then Pakistan
will disagree

(e} China will disagree if and only if
Pakistan disagrees

(d) If Pakistan does not disagree,
then China will disagree

Dream Dare Win 12
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(b) iz
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(d) T @ =t 7
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(a) i am?
(b) dfts waw R

(c) =F smafemadt § su-3-%0 &
T B
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IRt 7 ®9-8-F0 0% FEE
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28. Which one of the following statements
istrucif A, B,Caretrueand X, Y, Z
are false?

(a) [A-(BVC)]-~[(A-B)Vv(A-C)]
(b) UXVY)(AvX)]

(c) (CvZ)(YVB)

(d) ~[(~YvZ)=(~Z VY]]

29. Which one of the following is not
correct?

(a) Moods AAA and EAE are valid
in the first figure

(b) Moods AAA and EIO are valid in
the first figure

(c) Moods AEE and EAE are valid
in the first figure

{d) Moods EAE and All are valid in
the first figure

30. Which one of the following
characteristics is mof 1true of
the Nyadya-VaiSesika notion of

Paramanu?

(a) Created by God

(b) Non-spatial

{c) Naturally passive

(d) Individually supersensible and

collectively sensible

N-DTQ-K-RJK/BA 14
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31. Consider the following statements
regarding Berkeley :

1. He is empiricist, idealist and
rejects abstract ideas.

2. He is empiricist and rejects extra
mental world.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 only
fc) Both 1 and 2

{d) Neither 1 nor 2

32. Consider the following statements :

1. Everything that exists is
momentary, or in perpetual flux.

2. The unity of the self is reduced
to the multiplicity of fluctuating
mental moments.

3. Though there are no unitary
selves, there are unitary material
objects.

Which of the statements given above
is/are true of Buddhism?

fa) 1 only
(b) 1 and 2 only
fc) 1,2and3

{d) 2 only

Dream Dare Win 14
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28. AR A, B, Cu & 3R X, Y, Z s@=
@ Pofafes w919t 8 4 ah-wm =
a9 17
(a) [A-(BvC)]-~[(A-B)v(A-C)]
(b) LIXVY)(AvX)]

fc) (CvZ)YvE)

(d) ~[(~YVvZ)=(~Z VY]]

29, P=fafes & 9 F-a1 oF g T 27

(a) Ta=ma AAA 3 EAE wam s
% 3a 8
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(d) fa=ma EAE =l Al wam anafa
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gram 1 awen & fagan wd 27
(a) a0 Tm ge
(b) i
(c) weam: s

(d) =few wdifEa i aafes w3a
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33. In the Aristotelian scheme, matter is
not substance, because

(a) matter is inert

(b) matter is subject to mechanical
laws

fc) matter is created

{d] matter lacks
individual existence

independent

34. Tirthankara is best described as one
who has

{a) conquered all his passions
(b) attained omniscience

fc) become completely free from
the bondage of Karma

(d) discovered the way to the shore

across the troubled ocean of
Samsara and leads others to it

35. Buddha seeks a middle path between
two extremes which are
(a) contemplation and action
(b) chance and necessity
fc) indulgence and mortification

fd) being and non-being

36. Consider the following statements :

|. Bentham's hedonism is based on
psychological hedonism.

e

J. S. Mill regards that pleasure
must be measured both
quantitatively and qualitatively.

Which of the statements given above
is/are correct?

fa) 1 only
{b) 2 only
fc) Both 1 and 2

{d) Neither 1 nor 2

37. Consider the following statements with
regard to Stevenson :

1. Ethical disagreements arise
because of disagreement in
belief.

2. Ethical disagreements arise
because of disagreement in
attitude.

3. Ethical disagreements can be
logically resolved.

Which of the statements given above
is/are correct?

fa) 1 only
(b) 2 only
fc) 1 and 3

{d) 2 and 3

N-DTQ-K-RJK/8A 16
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(d) “ifew z=a § =aa =fes aferm &
T B
34, et %1 wataw oo & av =fw

({a) Tomd =93 of vt w s wmw
1 e

(b) Tt wdan ww & ot
PEECZEECIER R LR R
(d) Tom wem ¥ fages wemrm & 0

et @ o 9 Arl o oEe
foran & afw s} it =2l & v @

35, 9% @ fedt F 9w o el @ §,
Eil
(a) To=aa s =i
(b) dam 3 ArETEE

(c) smafem it sww-wm

(d) |q w7
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36. Frafefias suat w faan $ife .

1. W w1 gEar FEEAmEs gEan
T i #)

2. Wo ude fim wrd § 6 gm @
ufHmTEES Ud eneEE EF1 W9
B =

IF FaA A @ - ad R/
(a) ¥« 1

(b) e 2

fc) 1 3w 2 3

(d) sdr1anad2

37, @ F g § Foafefan w9 w
foram & -

1. A smenfal e 3 smeefs &

0 3599 B 2

2. Afow saenfoal sifigf 4 sweafa
& w0 I Bt B

3. e smenfadl =1 oda: wume
T wewen 3

I HET B A wE-aR ad R
(a) ¥ae |
(b) ¥am 2
fe) 133

(d) 2 3w 3
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38. Consider the following statements : Which of the statements given above

. The major premise must be is/are correct in the context of

universal negative in the second validation by Venn diagram?
figure.
2. The middle term must be
o . fa) 4 only
distributed in all the premises. i
3. The term which is distributed
in the conclusion must be (b) 3 and 4
distributed in the premises.
5
Which of the above statements is/are € & 2083
not the rule(s) of valid syllogism?
(d) 1
(a) 2 only
(b) 1 and 2
40. Consider the following statements
associated with Descartes :
fc) 3
l. Substance is an existent thing
which requires nothing but itself
(d) 1 only in order to exist.

b

Nothing but God answers to this
description.

39. Consider the following statements : ) _
Which of the above statements is/are

l.  Always diagram the particular correct?
propositions such as I and O
first.
{a) 1 only

2. There is no fixed order
for diagramming categorical

propositions, (b) 2 only

3. Use a ¥ to diagram a universal

proposition such as A and E.
fc) Both | and 2

4. Always diagram the universal
propositions such as A and E
first. fd) Neither | nor 2

N-DTQ-K-RJK/8A 18
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38, faaffias 94t w f=m fifem .

1. e swf § g smafem #

3 site g0 A ¥ g2 § 0w
Furdt # R -w/3 7 2/

T faes de afen af T4
2. wft amafEet § wem @ s
FIAT SR | (b) 33w 4
3. T oS fred d =m B W
smatfremiadt d oft = g =i fc) 233
I @l § @ FE-E/8 A ArEE
F1/% Fram T R/&7 d 1
(a) #as 2
e 40, ¥ @ wafe PAofafae w95 « =
(b) 1¥R2 Hifa ;
(c) 3 I, 7 WffeEn = 8 A
ST, 3 & oy s sl
(d) #F=e 1 et = o aian =t @
2. = oft 7, dm & wfefes, @l
39, Frferfian ot @ Fraw £ b i
wA-A /4 7
—— e A I el § | wE-w/R ad R/R
1 #r O &1 3nita it
(a) & |
2. Fenfis sfgficd & s % R
i ot (b) Fam 2
3. wrehim ufegfa 38 A sk E &
Hﬁﬂﬁiﬁ!ﬂ'x'ﬂmﬁml (c) 1 3fw 2 20

4. wem wdwgn wedm sl 8@

A 3N E =1 i Hife (d) a@13dmad2
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41. Consider the following statements :

According to Nydya, inherence is the
relation that exists between

1. substance and quality
2. substance and activity
3. particular and generality

4, eternal substance and
particularity

Which of the statements given above
are correct?

(a) 2,3 and 4 only

(b) 1 and 4 only

fc) 1,2 and 3 only

(dl 1,2,3and 4

42. Which one of the following arguments
for the' existence of God, Aquinas
does mof accept?

(a) The argument from motion

(b) The argument from governance
of the world

fc) The argument from the
gradation in things

(d} The ontological argument

N-DTQ-K-RJK/BA 20
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43. Consider the following statements :

1. ‘Gna' teaches renunciation of
action.

!‘J

‘Gitd’ teaches renunciation in
action.

3. 'Gitd’ teaches renunciation of
worldly life.

Which of the statements given above
is/are true of *GIa"?

fa] 1 only
(b) 1 and2
fc) 2 only
(d) 2 and3

44. In the context of Mill's utilitarianism,

which one of the following is not
correct?

fal The ‘greatest happiness’ should
always be our explicit motive

(b) Worth of actions is different
from worth of moral agents

fc) Happiness or pleasure is our
sole end

(d) Happiness is something we find
in and through our actions

45. Which one of the following statements

is true of Gandhian conception of
‘Means and Ends'?

fa) Truth and Ahims3 are the Means
{b) Truth and Ahirhsd are the Ends

fc] Ahirsd is the Means; Truth is
the End

{d) Truth is the Means; Ahimsd is
the End

Dream Dare Win 20
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41. Frefafan wei o fEm S
M & HIEW, GHETT 9% g R, 9
1. R i U F o9 d R
2. v 3w fiFn & = g R
3. fafire i amreen & & g 2

4. faeg werd o fafore & <fa 2w @
Il wYA1 § A FA-H G 87

fa) ¥aa 2,334
(b) Fae 1 sf 4
(c) ¥ae 1, 233
(d) 1,2,33Mm4

42. $w ¥ wfem i Fafafes gfeal 4 8
HA-H v v wfwn Tt wt

(a) wfa o e gfe
(b) =7 & wfvEmeR W maTiE giw
(c) aeg#i & Avfram w smaria g

(d) wema-wa g
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43, Tr=fefas sw= w faam Fifw

1. ‘e’ =4 & g=am A fan 3460 R
2. ‘e’ = o w=am i e 2 R

3. ‘fa’ oifem oftas @ s=m &
fen & 2

‘i’ & fou awlew et # & S9-m/R
e B/R7

(a) % 1
(b) 132
fc) a2
(d) 233

44. i@ & IwfmER & g 3§ Feafafea 8

d F1-91 U | A {7
(a) ‘@ftwam A=’ w¥E AW gHEH
Fw g wife

(b) wil =1 gea Ao Fwwl & g A
first 2

fc) @F= 9E G@ WA THATE G
{

(d) == a8 & & @ w9 = A e
I BT 9T 4 8

45, Frafafan s # & -7 w6 00 F

‘am ol e’ F weren & fou we

87

(a) wen 3w sfien w8
(b) e 3w srfean wea &
(c) wiffmn am B; |e | R
(d) wea areE B; wfge wna R
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46. Bhava-cakra, according to Buddhism, 48. A standard form categorical syllogism
is can be tested for validity by Venn
diagram by representing in the

(a) Desire — Ignorance — Activity diagram

(b) Activity — Desire — Rebirth

(a) the two premises alone
(c) Rebirth — Activity — Desire

(d) Ignorance — Desire — Activity (b) the two premises and the
—> Rebirth conclusion

(c) the two premises and the

47. Consider the following argument : ncgation of the conclusion

All great scientists are graduates.

Some actors are graduates. ’
(d) the major premise and the

Therefore, some actors are great canchasich

scientists.,

Which of the following is/are correct
in respect of the above argument?

L. It has form Al-2. 49. Which one of the following fallacies is

5 2 Itisvalid. committed in the argument “‘All
| books of literature are subject to
3. Ttis invalid. error, and they are all of man’s
inventions; hence all things of man's

Select the correct answer using the invention are subject to error''?

code given below :

Code : (a) Undistributed middle
fa) 1and2 (b) Mlicit major
(b) 1 and 3
fc) TMlicit minor
fc) 1 only
(d) 3 only (d) Fallacy of the four terms
N-DTQ-K-RJK/BA 22
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46, Wend F FIEN, WETH 1 27 48. A sen Feafts Ama w1
ait@ U Swm w1 whew, swE #
(a) TN — 375 — FEm e Frefim =, fomn = 9w 87

(b) T —» vwon — AR ) 63

(c) gsi= — T — o

(b) 2 smarfind si Frewd
(d) 3TFH — TN — G o gAe

(c) = st 3 Fred w1 fiy
47. Prafefaa gfs @ faen fivm .

it wer A wres )
Fa sfvtm ws §) (d) e s i Fed
3A:, 9 e TeE A §)

sk o % wi # frefefen 8 &

-1 /8w B/R7
1. @ #ER A2 B 49, “‘oft wiftey F gad IR F A F M3
wfl gge % anfassn §, s wf g
2. uE AR ¥ anfaern 6 agl R F e ¥, W
g § Fefefan § @ #9-w & o
3. Te 3@y ) oy rn RY
9 e W Fg= = owm = oad I
T (a) = ¥
T2
(a) 122 (b) s wE
(b) 133
(c) =W s
{c) Fam |
(d) Fa= 3 (d) <qes 3
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50. Dravya, according to Vaisesika, means Which of the statements given above

is/are correct?
(a) the substratum where only
qualities inhere

(a) 1 only
(b) the substratum where only
actions inhere (b) 2 only
{c) the substance where both
qualities and actions inhere {c) Both 1 and 2

(d) the substance which is in itself, -
alone, fully independent and (d) Neither 1 nor 2
does not have anything else

51. Which one of the following statements 53. Consider the following statements :
supports the privation theory of evil R .
in Augustine’s Philosophy? 1. Every individual is a compound
of matter and form.
(a) Evil has no place in God's 2. ‘Matter’ means physical
creation substance, and ‘form’ means
shape,

(b) Evil is creation of mortal beings
3. ‘Matter' and ‘form' are relative

(c) Evil is mere denial of good terms.

Which of the statements given above

(d) Evil is essential for the 5 .
are correct according to Aristotle?

evaluation of the value of good

fa) 1,2 and 3
52. Consider the following statements -

l. Nyidya system asserts that {b) 2 and 3 only
consciousness is an adventitious
attribute of soul,

fc) 1 and 2 only
2. According to Philosophy of

Nydya, soul is neither created
nor destroyed. fd) 1 and 3 only

N-DTQ-K-RJK/8A 24
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50. ¥tfies % srgan, w4 & ud sl wudl # B FA-w /@ wh Y8
(a) wfimr sl Faw 0 w=fHE @ 8 (a) Faw |
(b) wfirEm wrel Faw w0 srfie @ & 5) 2
(c) gﬁ%aﬂgﬂtmaﬁﬁm o TR
(d) = st =@ # 3, aFen, Pl (d) aa 1 aad2

e 3 Tl e e oft T R

51, Profafia wwdt § 4 FF-0 & SR 53, Frfefian e o fem i

& ayfa o oy ¥ vfem ¥ femm W

wwd w87 1. W st i = ol smer
FareE B

(a) $ut &t gfe § s =1 % = T

! ? » 2. “itfas w w1 s @ ifs gad
s ‘arEn w wd @ W

b} Jut gl & = R

v 3, ‘difts z&' Wi ‘s wNE W

(c) = HTE G F THR B &
. T HuAl A B ot SgER B
(d) v YM & ged F euEA & fog a7
sifrard &
fa) 1,233
. Fr=fefias sui w fBem :
- - (b) am 2 3w 3
1. = uef wfiefim s ¢ & <m0
e A I ¥ (c) e 1 3t 2
2. A % oA % IR, ew A
ge ¥ ol 7 @ e At R (d) ¥a= 1 3R 3
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According to Gandhi, Ahirhsd in its
positive state means

1. Love

2. Aparigraha
3. Non-killing
4. Swardj

Which of the above is/are correct?

fa} 2 and 3 only

(b) 3 and 4 only

{c} 1,2, 3and 4

(d}] 1 only

55. Which one of the following can be

regarded as the moral standard in the
Gandhian framework?

fa) Law

{b) Pleasure

fc) Non-violence

{d) Self-realization

N-DTQ-K-RJK/8A 26
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54. Consider the following : 56. In a valid standard form categorical

syllogism, if either term is distributed
in the conclusion, then it must be
distributed in the premises. Violation
of this is called as

(a) the fallacy of the four terms

(b) the fallacy of undistributed
middle

fc] the fallacy of illicit major or illicit
minor

(d} the existential fallacy

57. Which of the following truth functional

expressions is/are nof correct?

l. (~pD~g)=(pv~q)=~(~pq)

Pk

(~p-~q)=~(pv~q)=

~(~p2~q)
3. (~pvql=~(p-~q)=(pDgq)
4. (p=~ql=~llp-~q)v(~p-~qg]]

Select the correct answer using the
code given below :

Code :

fa) 1 and 3
(b) 2 only
fe) 2,3 and 4

fd) 2 and 4 only
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3. H-FW

4, TH

Tk & @ Aa-m/d wh R/

(a) Faw 2 3w 3

(b) Fa= 3 3 4

fc) 1,2,334

(d) ¥F== 1

§5. iefar 21§ foefefae 9 @ fem = 9
MG W B9/ WA o1 g6 87

(a) faft

(b) §&
(c) =fem

(d) =wfafa
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56. 3u "EE WwR Teofs AEEE F
fored & aft 991 # & U oft 12 =W E
%, @ 3@ sl & ot =W e
aifi | god st # @F-w 2 FEd
g7

(a) <ge= AW
(b) =W B A
(c) S¥=aTR WIeG HYET AT 98 A

(d) sfEEwE Than

57, frfufaa geaa SaATwE sAfvesafwal § 3
w8 wd Tl B /R7

. (~pD2~q)=(pv~qI=~(~pq)

2. (~pr=gi=~(pv~q)=
~(~pD~q)

3. (~pvg)l=~(p-~q)=(pDq)
4. (p=~g)==[lp-~q)vi~p-~q)]

A fu m oH= W WM & OGE W
kLS

L T

fa) 133
(b) Faa 2
c) 2,334

(d) @ 2 34
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58. Consider the following statement

If politicians are responsible only if
the cilizens are responsible: the
politicians are neither honest nor
self-respecting.

If
P : Politicians are responsible
C : Citizens are responsible
H : Politicians are honest
S : Politicians are self-respecting

then what is the correct
symbolization of the statement given
above?

{a) (CDP)D(~Hv~S8)

(b) (PDC)D(~Hv~8)

(c] (CDP)D(~H-~8)

(d) (PDC)o(~H-~8)

59. p-lgvr)is equivalent to which one of

the following?

(a) pD(~gvr)

(b) ~~p-~|~g-~r)

(c) p-lg>D~r)

(d) p'l~qg>~r)

N-DTQ-K-RJK/BA 28
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60. Which one of the following is correct

according to Plato?

(a) Forms subsist independently of
any knowing mind

(b) Forms are ideas residing in the
mind of God

fc) Forms are both mental and
physical

(d) Forms can in no way be
apprehended

61. Consider the following statements -

I. Besides red objects, there
is  redness which exists
independently of red objects.

2. Redness, like other universals,
must be viewed as essence and,
as such, it is real in itself.

Which of the statements given above
is/are in accordance with the view
advanced by Plato?

fa) 1 only
(b} 2 only
{c) Both 1 and 2

fd] Neither 1 nor 2

Dream Dare Win 28
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58. Fr=fefas wa w fem fifow . 60. Fr=fafas 4 2 #9-m s 92 § SgAR
w87
a2 vy fordram €, #ae aR it

fordam &; woetfon 4 A faeen & 4 @ (a) wvEw T oft SRt @ W R =

| a4 e £
afe
p : ety faeam # (b) s $a F v | @A T v §
C : i frdEm §
v : (c) smwm AT §, wafs s i
s : T e §
it 3w a1 ) s = 37 Fdigﬁsﬁwﬂmmqﬁa
(a) (CDP)DI~Hv~S)
(b) (PDC)D(~Hv~S) 61. Fraffiaa wuat w fmm fifsm

|, e aeel & semE, we @
foreem e el | A A
{

fc) (CDP)D(~H-~S)

"'"H'"'
B =S 5 2. e, F= wwE AT, W) F
wy 1§ fyarfm o wfge, s =
UEN, T8 =4 § anatas 8l

Akl s a3 g /A7

fa) pol(~gvr) (a) Fae 1

) “~preivg:~r) (b) et 2

fe) p-lg=>=1) () 1 3w 23

(d) p-l~g>~r) (d) as1amad2
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62. Suppose that the sentence **There is a
cat on the mat" is true. Which of
the following statements regarding
this true sentence would not be
acceptable to Nydya-Vaisesika?

(a) The existence of the cat-on-
the-mat is independent of our
cogmition of it

(b) Perception of the cat-on-the-
mat validates the existence of
the cat-on-the-mat

(c) The existence of the cat-on-
the-mat is reidentifiable by a
later cognition

(d) The sentence corresponds to the

state of affairs it represents

63. Descartes' method of doubt leads to

the view that it is certain that

(a) 1live as an embodied person

(b) 1am a body

(c) 1am a thinking substance

{d} 1 am eternal

N-DTQ-K-RJK/8A P 30
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64. Which of the following are Mahavratas

65.

(great vows) according to Jainism?
1. Ahirms3, B;ahmaénf}rys

2. Sunrta (truthfulness), Asteya
3. Karuna

Select the correct answer using the
code given below :

Code ;

(a) 1 and 3 only
(b) 1 and 2 only
fc) 2 and 3 only
(d) 1,2 and 3
Which one of the following is the true
spirit of Nisk@makarma?
(a) Renunciation of action
(b) Renunciation in action
(c) Inaction

(d) Rejection of the consequences

[ T
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62. wm et i o ‘wed w fgt }' W 64. Fmm ¥ sman, Frafefas § 8 S

#1 3@ wm Ay & Ry 7 FrafeRea werEd 37
FoEl @ & - AE-anhEs & el
wdt e 1. uftm, Fe=d
2. oA, AEE
(a) wei-m-fagh #1 wfGa it o
S 3. =M
(b) Fed-w-fdl 1w wEd-w- ﬁﬁq“ﬁﬁmmﬁqﬁm
faed F wifims =1 sz e 2 EELE
He !
(c) wai-nfgf W fRm W (a) Fa= 1 3w 3
HYHE 30 gATEE 2
(b) Fam | 3fw 2
(d) amm 39 sd-fef % ey @
o d (c) #am 2 s 3
(d) 1,233

63. FW # w2 # ugh @ fmm fi S A
wrd & Fraw ffia &
65. Frafefas 8 4 sw-d@ Feawsd § a9l

wrEan #7
fa) & us oy =afE & e # wE

(a) = = =T

(b) # u i g
(b) &4 8§ 5=H
(c) # us dr=a aren qeH § g
(d) & (d) wet H TR
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66. Consider the following statements in
regard to the view of Kant's Moral
Philosophy :

l. Moral ideal is God's decree.

2. Moral ideal is achievement of
happiness of all.

3. Moral ideal is abiding by the
maxims of pure practical reason.

Which of the above statements is/are
correct?

fa) 3 only

(b) 1 and 2

fc) 2and 3

{d) None of the above

67. A person is called Sthitaprajiia when

he

{a) becomes indifferent to virtuous
actions

(b) becomes indifferent to joy and
SOTTOWS

fc] attains God

(d) enjoys heavenly bliss

N-DTQ-K-RJK/8A 32

[ P —

WWW.jeywin.com

68. Which of the following truth
value assignments makes ‘(~pvg),
(pv~q), (~pv~q) and ‘~(pvq)
all come out true simultaneously?
{a) When p is false and q is true
(b) When p is true and q is false
(c) When both p and g are true

(d)] When both p and q are false

69. In a two-valued logic system, given
that A is true, B is false, C is true
and D is unknown. What can you tell
about the truth value of

[(~B-A)(C-~D))-~{(A-~B)-~(~C-D)]?

fa) Its truth wvalue cannot be
determined as D is unknown

{b) Its truth value is true
fc) lts truth value is false

(d) Its truth value depends
completely on the truth value
of D

70. From the statement ‘(LvA)-D’, we
can validly derive

fa) (LvD)-(AvD)
(b) ~{~(LvA)v~D}
fc) ~(LvA)v(~D)

(d) Lv(A-Dj

Dream Dare Win 32
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66. Hvz & fE T F gfbEw F ey i 68. fr=fafla & @ #-m g [eu awgRem
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1. Ao smeel dav 6 smaf () B
(a) =@ p swra @ st g B

. Ao e ofi #) Fuefa
; 3 o (b) =& pum ® 3 g 3w R

fc) =@ p 3l g &t v #
3. s smed 3= wEwiE odgfe F
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oAt | -
ELCL # F-11/0 W R/RT 69. Ted oF =y A, R R R A ww R,

Bawe g, CHEa 3w D sy R,

e b [(~B-A)-(C-~D)}- (A ~B)- ~(~C-D)]
& Heda &

(b) 1 3h 2 e TR
(a) w1 geaan qeu i T fen s

fc) 233 o % D s &

(d) 9dw & & w1 78 (b) o Heaal qeu WA @
(c) oo Geaa 4o HEA B
(d) o gewe qeu qofa: D % wem

67. w1 = vy 7 Fea 8, 9@ 98 o Wit e R

(a) wﬁm-&mﬁm% 70. &9q (LvA)-D' & dua: 7 Fofe fea
o W B

(b) wesEl 3N @l | Frdw @ s @ fa) (LvD):-{AvD)

(b) ~{~(LvA)v~Dj
(c) 3 TmE Aa B
fe) ~(LvA)vIi~D)

(d) =i 3179 %1 SAqva F g (d) Lv(A-D)
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71. Consider the following arguments :

. X2o0Z,. YOZ ~Z . X=Y

2. XDOZ, X-~Z o ZDOX

Which of the above correctly state(s)
the validity status of the arguments?

{a) 1 only
(b) 2 only
fc) Both 1 and 2

{d) Neither 1 nor 2

72. Consider the following statements

concerning Nydya-Vaisesika view of
Sdmanya :

1. The individual alone is real and
there is no universal other than
particular objects of experience.

2. The universal is the basis of the
notion of sameness that we have
with regard to all the individuals
of a certain class.

3. There is no universal subsisting
in another universal.

Which of the statements given above
is/are correct?

(a) 2 only
fb) 2 and 3
fc) 3 only

{d) 1 and 3

N-DTQ-K-RJK/8A
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73. Which of the following arguments

isfare given by Descartes when he
says "Cogito ergo sum'?

1. My existence follows from my
thinking but not from any chance
action like walking or laughing.

2. Tthink, I cannot be wrong to hold
that I exist, whatever may be the
nature of my thought.

Select the correct answer using the
code given below :

Code :

{a) 1 only
(b) 2 only
fc) Both 1 and 2

{d} Neither 1 nor 2

74. According to Ramanuja, [$vara and

Jiva are

fa) both distinguishable and
separable

(b) neither distinguishable nor
separable

fc) separable but not distinguishable

(d) distinguishable but not separable

34
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75. Which of the following are the views of

77. Epicureans accept which one of the
Gandhi? following ethical theories?

1. The Means may be likened to a
seed, the End to a tree.

fa) Emotivism

{b) Hedonism
2. There is no wall of separation

between Means and End. (c) Descriptivism

3. The realization of goal is
proportional to the Means
employed.

(d) Prescriptivism

78. Bentham's moral theory is derived

Select the correct answer using the from the premise that man is

code given below :

primarily
Code : fa) instinctive
(b) rational
(a) 1 and 2 only (c) social

{d) economic
(b) 2 and 3 only

{c) 1 and 3 only 79. Consider the following statements :

1. The material bi-conditional or

(d) 1,2 and 3 equivalence can also be defined
by a combination of conjunction
and material conditional.

76. According to Jainism, freed soul 2. The negation of a material

possesses Anantacatustya, Which
one of the following is mot an
Anantacatustya?

fa) Infinite love
(b) Infinite knowledge
{c) Infinite bliss

{d) Infinite power

conditional can be defined by a
combination of negation and
conjunction.

Which of the statements given above
is/are correct?

{a) 1 only
(b) 2 only
{c)] Both | and 2

(d) Neither | nor 2
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80. If “All but employees are eligible' is
true, then which of the following are
true?

1. All employees are eligible.
2. No employee is eligible.
3. All employees are non-eligible.

Select the correct answer using the
code given below :

Code :

(a) 1 and 2 only
(b) 2 and 3 only
fc) 1 and 3 only
{d) 1,2 and 3

81. Consider the following statements :

1. Ina formal proof, every line that
is not a given premise must be
justified by a wvalid rule of
inference or by a valid rule of
replacement.

2.  The last line of a formal proof is
the conclusion to be drawn.

3. The truth functional sentential
logic has no connection to
formal proofs.

Which of the statements given above
are correct?

fa) 1,2 and3

{b) 2 and 3 only
fe) 1 and 3 only
fd} 1 and 2 only
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B82. Consider the following statements

according to Carvaka :

1. The wuniversal and invariable
relationship cannot be
established between middle
and major terms.

2. The soul is body qualified by
CONSCIOUSNESS.

3. Comparison is a valid source of
knowledge.

Which of the siatements given above
are correct?

fa) 1,2 and 3
(b) 1 and 3 only
fc) 2 and 3 only

(d) 1 and 2 only

83. Which one of the following is the

correct expression of Nydya view of
Pramanyavada?

(a) Intrinsic validity and extrinsic
invalidity

{b) Extrinsic validity and intrinsic
invalidity

(c) Extrinsic validity and extrinsic
invalidity

(d) Intrinsic validity and intrinsic
invalidity

Dream Dare Win 38
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84. According to Nyaya, inference is a 87. Within Kantian framework, which of
means of knowledge in which we the following hold(s) good?
proceed

1. Freedom of the rational will and
necessity of natural causality are

(a2) from particular to universal compatible.

(b) from universal to particular

2

Necessity of natural causality
relates the action to its
c) from less universal to more consequences, while freedom of

universal rational will relates the agent to

the choice of action.
(d) from particular to particular via

. Select the correct answer using the
universal

code given below :

Code :
85. Consider the following statement :
Karma is conceived as material fa) 1 only
particles which enters into the body
and binds it. (b} 2 only
The above statement is true of fc) Both 1 and 2
{a) Buddhism {d) WNeither 1 nor 2
(b) Jainism . ) : .
88. Consider the following claims with
{c) ‘Gua’ regard to Kant :
1. Morality is binding on human
{d) Gandhi bEi]'IgS.
2. Our will encounters opposition
86. Psychological hedonism says that within our own selves.
nature has put man under two ) )
sovereigns. They are Which of the statements given above

is/are correct?
(a) right and good

(a) 1 only
(b) end and means (b) 2 only
() pleasure and pain {c) Both 1 and 2
(d} None of the above {d) Neither 1 nor 2
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89. Intraditional logic, if ‘A’ proposition is

false, then which one of the following
sets is correct?

{a) O is true, E is false, I is true

(b) 1 is false, O is false, E is
undetermined

{c) 1 is undetermined, O is false,
E is true

{d) E is undetermined, O is true,
I is undetermined

90. According to modern interpretation of

A, E, 1, O propositions, which of the
following statements regarding their
logical relations are true?

1. If A is true, 1 is true.

If A is true, E is false.
If 1 is false, O is true.
If O is true, 1 is false.

If E is true, | is false.

& Lok a9

If O is false, A is true.

Select the correct answer using the
code given below :

Code :

{a) 1,3 and 5
{b) 2, 4 and 6
{c) 1and2

(d)- 5 and 6
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91. According to Buddhism, Anupalabdhi

is mot an independent means of
knowledge, because

(a) Anupalabdhi is
Anumaéna

a form of

(b) Anupalabdhi is reducible to

Pratyaksa

(c) Anupalabdhi is not used as a
Pramdna in the canonical
literature of Buddhism

(d) Anupalabdhi is an absence of
knowledge

92. Consider the following statements :

1. Coherence theory concerns the
meaning of the word ‘true’.

2. Coherence theory seeks to
identify the criterion that ought
to be met by a true statement.

3. ‘Coherence’ concerns only the
relation among propositions.

Which of the statements given above
is/are correct?

fa) 2 only

(b) 1 and 3

fe) 2 and 3

{d) 3 only

42
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93. Which one of the following statements
is the wrong proposition with regard
to the Pragmatic Theory of Truth?

fa) The pragmatists hold that the
nature and the test of truth are
the same

(b) The pragmatists in general do
not believe in degrees of truth

fc) To the pragmatists, truth is
primarily volitional and only
secondarily intellectual

(d) According to the pragmatists,
truth also consists in verification

94. According to Nydya, Anyatha-khyéti
occurs due to

(a) Mainasa Pratyaksa
(b) Jhdna-laksana Pratyaksa
(c) Samanya-laksana Pratyaksa

(d) Yogaja Pratyaksa

95. Which of the following stalements are
true regarding validity and truth of an
argument?

1. Arguments are neither true nor
false.

2. A sound argument must have
only true premises.

3. Both the premises and the
conclusion of a valid argument
must be true.

N-DTQ-K-RJK/8A
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Select the correct answer using the

code given below :

Code ;

(a)
(b)
(cl
(d)

1 and 3 only
1 and 2 only
2 and 3 only

1,2 and 3

96. The formal proof of validity makes use

of

(a)
(b)
(c)

(d)

rules of inference only
rules of equivalence only

both rules of inference and
equivalence

ncither rules of inference nor
rules of equivalence

97. The falsity of the conclusion

fa)

(b)

(c)

(d)

does not guarantee the invalidity
of an argument

does guarantee the invalidity of
an argument

does guarantee the falsity of all
the premises

does guarantee that the
argument is invalid as well as the
premises are false
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98. In respect of universal negative
proposition, which one of the
following  statements  correctly
represents the position with respect
to the distribution of terms?

{a) Only subject-term is distributed

(b) Both subject-term and predicate
term are distributed

{c) Only predicate-term is

{d) None of the terms is distributed

99. An affirmative singular proposition
asserts that

fa) a particular property exists

fb) a particular individual has a
specific attribute

fc) a specific attribute is related to
other attributes

100. Consider the following statements :

1. If a given syllogism is formally
valid, then any other syllogism of
the same form must also be
valid.

b

If a syllogistic form is invalid,
then some, not all, syllogisms of
the same form are invalid.

N-DTQ-K-RJK/8A 46
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{d} some attributes are non-existent 102.
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Which of the statements given above
is/are correct?

(a) 1 only
(b} 2 only
(c} Both 1 and 2

fd] Neither | nor 2

A particular negative statement is
similar to a particular affirmative
statement in that

(a) subject-term is undistributed in
both

(b) subject-term is distributed in
both

(c) predicate-term is undistributed
in both

(d) predicate-term is distributed in

both

When two propositions with same
subject and predicate terms are such
that they cannot both be true,
although they can both be false, then
the propositions are
(a) contradictory
(b) contrary

{c) sub-contrary

{d}) sub-contradictory
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103. Consider the following statements with 105, According to Descartes
repard to Berkeley :
1. matter remains constant

1. Things do not exist
independently of perception. 2. _its motion remains constant
2. Even when there is none to 3. it is not motion, but force that

Which of the statements given above

s t'? 4. matter is a substance, having
is/are correct?

| i 5
perceive, God perceives. remains constant
extension as its attribute
I
|

fa) 1 only Which of the statements given above
are correct?
(b) 2 only
1 and 4 onl
(c) Both 1 and 2 (Wit 4y
{d) Neither 1 nor 2 (b) 1 and 3

{¢) 2 and 4 only
104. Consider the following :
A shell is cognized as a piece of (d) 1,72 and 4

silver, because

1. there is recognition of the

previously known silver ) -
106. According to Leibniz, the truths of

a shell resembles with silver in fact, in contrast with the truths of
some respects reason, are founded upon

[ o ]

3. there is a shell at that moment

g : : fa) the principle of sufficient reason
4. there is temptation for silver proc

Which of the above reasons are given (b) the principle of contradiction
by Prabhikara Mimamsaka? only
fa) 1 and 4

fc) the principle of empirical
confirmation only

(b) 2 and 3
fc) 1and3 fd) the principle of contradiction
and the principle of empirical
{d) 2 and 4 confirmation
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107. Which one of the following is the
correct presentation of Buddhist
doctrine of Apohavada?
fa) Universal is real
{b) Universal is a concept only

fc) Universal is a name only

{d) Universal is unreal

108. Which one of the following does net
follow the Jaina conception of
Ahirhsa?

(a) Potential equality of all souls
(b) The principle of reciprocity
(c) Respect for all life

(d) Performance of Yajia

109. Who, among  the following
philosophers, subscribes to the view
of ‘psycho-physical parallelism’ in
order to explain the relation between
body and mind?
fa) Descartes
(b) Spinoza
{c) Leibniz

{d) Berkeley

N-DTQ-K-RJK/BA
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Directions :

The following elevem (11) items consist
of two statements, Statement | and
Statement II. You are to examine these two
statements carefully and select the answers to
these items using the code given below :

Code :

(a) Both the statements are
individually true and
Statement [l is the correct
explanation of Statement |

(b) Both the staiements are
individually true but Statement Il
is mot the correct explanation of
Statement [

fc) Statement 1 is true but
Statement 11 is false

(d) Statement 1 is false but
Statement 11 is true

110. Consider the following statements
according to Descartes :
Statement 1 :
Mind and body interact on each
other.
Statement II :

Both mind and body are
diametrically opposed and
independent substances.

111. Statement I :

An argument is valid when the
conclusion follows from premises.

Statement II :

A corresponding argument form of a
tautologous proposition is valid.
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107. frafefiga 4 & aw-wm e dewa &
syirears % fagra w1 W v 27

(a) = wA R
(b) BT A 8
(c) AW FEd TH 719 2
(d) a1 379 8

108, Feferfian # @ #-m ww 99 & aftw &
HEIE = AL T Har
(a) ww& sl &t g gaEa
(b) ¥ % fagr
(c) a9 ¥fEa & fau wm
(d) =% =1 FeEA

109. F=forfla 4 8 #5 oF aifes, w1 @
Wit % a9 gmey f =nen =60 % o
:ﬁﬁmmmf%mmmmmm
(a) T
(b) fErn
(c) =gt

(d) %

N-DTQ-K-RJK/8A

e .

Freafafaa mwg (11) wwmem 3 € 01 §, 599 1
A wom 1. @ 2w @ sy ol
Hifo it @ A F sw AR R g A
T 4 g

L -3

fa) E’Iﬂmaﬁ’amﬁaﬂtm II,
Hu | %1 |t wdtwm R

(b) ¥ ww =fen: wa § fg
w1, w99 | &1 afl afilem
T B

fc) w1 e &, g Fom 1 orea @

(d) su7 1 3w d, g Fo v &

110, 2% & gan, Fefafas w9@ @ faw
Hifem .

94 | :
w9 i 3w v shafEn w0 )
T 10

m dn 2 I ple: Bindt i w=dw

7= &1

111, %89 1:

afts 39 gl R s Fed anarftaed @
st g B

= 11 ;

e ufeefl #1 aegee gfe snew 4w
a2
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114,

115,

116.
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Consider the following statements
according to Berkeley :
Statement 1 :
There is no such thing in reality as
maitter.
Statement 10 :
Whatever exists is either perceived
li.e., idea); or else it is a mind that
perceives ideas.
Consider the following statements
according to Moore :
Statement [ :
God is indefinable.
Statement 11 :
It does not stand for anything,
Consider the following stalements

according to Ayer's emotivism :
Statement 1 :

There is no contradiction in my

saying first that something is right

and subsequently that it is wrong,
Statement I -

I am stating that 1 have certain

feelings toward that thing.

Consider the following statements
according to Stevenson
Statement [ :

All attitudes
significance.

have moral

Statement I :
Ethical terms may have emotive
meaning.

Statement [ :

Perfect peace in Buddhism is not
the pleasures gained through the
fulfilment of desires.

N-DTQ-K-RJK/BA
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117.

118.

119,

120.

Statement I ;

Perfect peace in Buddhism is a
state of calmness, evenness and
passionless self-possession.

Consider the following statements
according to Leibniz :
Statement | :

Every monad is a mirror of the
universe.

Statement II :
Monad has no windows through
which anything could pass in or out.

Consider the following statements
according to Aristotle :
Statement [ :
Universal is not a substance.
Statement II :
The universal is merely a common
predicate.

Consider the following statements
according to Sankara :
Statement I :

The Jiva can illumine objects by its
own essential nature of intelligence.

Statement II :
The Jiva has Avidyd as its limiting
condition.

Statement [ :

Coherence theory of truth works
even if it bears no relation to the
world.

Statement 11 ;

Coherence theory states that
propositions cohere with one
another.

52
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112, =%l % gem, Frafofa #wb o« feEn
Hifor ;

o e i
gurden § s 7= 3 = e G
4
w11 :
ot Fo ot sifeEar & 9 o @ velim
(wmariq werm) R, srwmn @@ W R oS
UrEdl W Yeds e B

113. 1 F e, Foafafas s w faEn
#ifem .
FYA ] -
Tt sfamy 2
w10 :
s &g e 9 R

114, U3 & 3R & wgun, Prafafen s
7 famm #ifew .
CoaCl
W wuwa: 72 Fg4 i fh 3w wq R ain

arar % 2w smwq R, * = o
#l

wYA 11 :
# wom wan § f5 W, 39 7 F W@,
wfoag s §|

115. &=m & s, Fafafan s .
feram #ifere .
A
it sifirgfvat 1 Mae mee & B
FgA 11 :
e el &1 w&mewe o € W B

= ] :

drgma # pf wf® weonait £ 9ff zm
W §@ 7 e

116.
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117.

118,

119.

120.

& 11

g # f mfF worem, o sl
rETaTied e o e 2

e & agEn, Frafafen swE w
foram #iftm

FYq 1 :

v faeo fg & oo 3

FY 1l

oy % 9 e i R, e g 3@
i =T 3 W T A W

ey % sigan, Feafufan we6 w fmm
HifSr .

94 1 ;

=, a6 R

FHA 01 :

AW, HE U G g d)

R & R, Feffan s o fan
#ifem -

94 | ;

W vl gk ¥ afes @ T
ot =t sl = weRe 21
w00 :

e # srfren 3wl v Iy % ey #
Bt B

w4 | ;

o @ N @y 4 @ 9 g
#1 waw faara w9 w R
FA Il :

auwm fawra wiea = & B
wftrfial ww-gat & ww @ el 3
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WE WE NI 9% T e et W 7 e WU AW A% 7 Wi

#i#t . | N-DTQ-K-RJK gftgror gfcra sy
= HE
13321 Udteqor giedent A
AT
Y ; & "uE quits : 300
#AFIAWA

1. wften wwoew W1 & e W, 3 3 wiew it £ ugae save W i yd w5 fe o, wa
g BT YE e wwim iR A W) w2 e R, @ e wdt ol gfee @ wme wf

2. Fwi-www A Wt v W ofign giten sgww A, B, C @1 D qufeaf woe v @ geag Hifm)

3. W vign gféem o @ d fi o owwE 8 o s
g e R wlew g w s o 3 )

4. @ vl gfem ¥ 120 i (ve) B oo 2 s e feh ol sireh 261 4 om &) ods weei
ar wegwt () o e &) e @ v v W 9w o, B oo e w sl wen aned §) of2 s
e o B uw @ afis weger ol B, @ 39 wege ® aifea W S e et @) SR T & T
waE Us W W T R

5. s A wff wepEr wem A R swews w @ il w0 8 swmewes 3 R B 2

6. @it uwd ¥ 3w @ §)

7. 0 wed % s ofem gfem & ffm owin & s ow-wE W s w0 E W, s wam
yaw-93 F T ifiE e % sgEn g9 REo amews @ 3 8

8. WM W Wl WAEd F IN-9EE A W@ F a2 a9 v F AN W FEe Im-uEs it =i 3
w9 v glem gt | wa R oseei R

9. w5l ®m & fow wrw whew gEm F s 4 wem #)

10. wem I & fem goe .
argfie ww-wEt # sefieam oo fg e T & few gow fean ey
(i) weem Wi & frg wm dsfs 3w §) sefean oo wiE v % R R o v e T g o i

frae e m, s = ve-fed (0033) =vE % w0 § w1 Wmn)
(if) = Fré Iodram vw & sfies 3o 3m &, & @ wem T AEn S, Tl o o s 4 @ o e
g b, B o 38 wn & o awfmEen @ =i s = oo fn wom

(iif) af I=feaw g w8 o= we o fEn s @ sufs aefean g s B T R, @ 3R wE § o
g 7og Tt f saom)

wE wE w9 s gfee wem w9 W W w as F e

Note : English version of the instructions is printed on the front cover of this Booklet.
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